UN—SS800—50

[(FEEH# ]
(AFEIGHEHNS 75X EOREEES - ABTSCEIDCAEN GL+0m [2k3)

S=1:20

2000 2000

Vel Y
"/

Y
AW

| |
il AKX A yva 1L | ¢
| (N FUyav) 1IN
o (28715 L T R 8
| BEH - EFHR ©
L L
GL+om ] ILIE
o
il | ¢50.8x1.6 $50.8x1.6 /1! @8
= |
| q_l § —
250
A BRER 4 $=1:5 B &R ER {4 $=1:5 C &RER {4

F

BAig

3

A#RBN M8 x 53 F4EBN M8 x 65
W) W)
- e -
— 5 igreavmyl — = : . - == 7 =3
—— — —l—
¥ y =

WmERTaAU bk

‘||I|]
|
ot
\"
w

A
\I
-

~

FA1EBN M8 x 65
W)

FAIEBN M8 x 53
W)

250

S=1:5

FA1EBN M8 x 25
W)

DJAXAyS a2
() RIFSEEEZTT.

o |l
o |<F
33
o
r
®5.0
(¢4.5)
=50

BHESE
B i E - BB S 7 FREDEERER - RAETFICESCRAENICKD,
E@E -HBERS1T. 2mUT(EEEO. 3t/ m)
HEIXLIBREDOHET B,
B, AAEEEREOHBEDLEXITHEL,
sy - REIFFAHM S 98 kN/mM (10 t./m)
BEIRSEFRBVWEDET S,
Ee

1. SO T

EH, vaft T - T - TR LARDED

Waea R A P A
NSl LETHE IR R
AN ST © &0 L BTHRIEHIEN LS

R
AR, Ty b - ARBERO - EDLEHERNE

231408101 —1

2024.03




